COT 5405 10/21/2009

Due 11/04/2009
Use the following data to write a program to compute the minimum average search time for a Binary Search Tree with the given input of probabilities of occurrences. Make two runs – one for each data set.
Output the average search time, and for each node, it's two children (one if it only has one or none if it is a leaf).
Letter Frequency (source unknown)
e  0.12702
t  0.09056
a  0.0816 
o  0.07507
i   0.06966
n  0.06749

s  0.06327
h  0.06094
r  0.05987
d  0.04253
l  0.04025
c  0.02782

u  0.02758
m  0.02406
w  0.02360
f  0.02228
g  0.02015
y  0.01974

p  0.01929
b  0.01492
v  0.00978
k  0.00772
j  0.00153
x  0.00150

q  0.00095
z  0.00074
Unix Manual Page on printf

t  0.11  

n  0.10  

i  0.10  

e  0.09  

r  0.08  

a  0.07

s  0.07  

o 0.06  

p  0.05  

f  0.04  

h  0.04  

c  0.03

u  0.03  

d  0.03  

g  0.02  

m  0.02  

l  0.02  

y  0.01

v  0.01  

w  0.01  

x  0.01  

b  0.00  

k  0.00  

z  0.00

j  0.00  

q  0.00
